


FreyVan
Sticky Note
Only this option. 12v4.5ah, 390 - 16000









FreyVan
Sticky Note
Star installation with the unit in up-side-down position. Slide the steering column through the designate opening. Make sure the L-shape is pointing backwards.

FreyVan
Sticky Note
Mount the steering bracket to front axle. Secure the connection with M5x12 bolt and O5 nut set on each side.

Place the assembled front axle to the unit body, make sure it sits properly and the steering column go through the axle opening. Fix the axle to the car body with 8 x M4*12 screws.

FreyVan
Sticky Note
Remove



FreyVan
Sticky Note
To install the front wheel, front inside-out, the order on the axle should be o12 washer, front wheel, o10 washer. Fix the connection with nut. Note, the nut should not be over tighten. Place the wheel cover once confirm the connection. Repeat for the other side.

FreyVan
Sticky Note
Remove



FreyVan
Sticky Note
Slide the rear axle though the designated opening. Put the motors through the axle, connect the cable. Then from inside-out on the axle, the order would be back wheel, o10 washer, then secure the connection with nuts. Note, both sides' nuts need to be tighten at the same time. Place the wheel cover once confirms the installation.

FreyVan
Sticky Note
Flip the unit to normal position. Place the front bumper cage align corresponding opening. Fix the cage on the unit with 6x M4*10 screws as shown on the diagram.



FreyVan
Sticky Note
Slide the steering handle through the steering column. align the opening. Secure the connection with bold/nut pair.

FreyVan
Sticky Note
Place the windshield to designated opening on the body. Press firmly until it is fixed.



FreyVan
Sticky Note
Fit the luggage carrier to corresponding location on the unit body. Fix the connection with 3 x M4*12 screws.

FreyVan
Sticky Note
Remove the screw on the seat. Open up the seat cover and locate the battery. Connect the battery cable and test the connection. Once confirmed, place the seat cover back and fix it with screw.




















